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3. Sample assessment answer key

Listening - Part One

Imark for each correct answer. Total 8 marks
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(c) Of course, what can | do for you?

(d) It was the home team.

(c) No, though | saw a very good play last weekend.
(d) I’'m afraid there isn’t one near here.

(a) We were at university together.

(b) I would like to go for a walk in the hills.

(c) We adopted it a few years ago.

(b) They look fantastic, I’d love a test drive.

Listening - Part Two A

1 point for each correct answer. Total 6 marks

9.

10
11
12
13
14

(c) He offers the customer a seat.
. (c) It has to fit into a tight space.
. (d) A washing machine
. (c) Marble
. (b) It does not drain well.
. (a) To avoid the use of wood.

Listening - Part Two B

1 point for each correct answer. Total 6 marks

15
16
17
18
19
20

. (d) Nicotine

. (c) Fine particle matter

. (a) Lack of instruments to measure the pollution
. (b) Male members of the population

. (b) Side effects of the fires have been ignored

. (a) Stay inside and avoid the smoke

Listening - Part Three

1 point for each correct answer. Total 10 points

21.
22.
23.
24,
25.
26.
27.
28.

(c) Food production cannot grow as fast as the population

(d) Shipping improved

(d) Density of population does not correlate with poverty

(c) People of retirement age

(b) To plan for changes in population in the future

(c) Because it does not consider wellbeing

(b) They are not high enough to cause an increase in the population
(a) It questions whether it is the top priority
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29. (c) 1.6
30. (b) It coincided with the industrial revolution

Listening total __ /30
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Reading — Part One

1 mark for each correct answer. Total 8 marks

31
32.
33.
34,
35.
36.
37.
38.

(d) repetitive

(a) Line 1

(d) manual

(c) Line 17

(c) solved

(a) Line 19

(c) Adding to the workforce
(b) Scientific

Reading — Part Two

1 mark for each correct answer. Total 8 marks

39.
40.
41.
42.
43.
44,
45.

(c) Power fuel cells

(a) Carbon nanosheets

(b) They can be outperformed

(b) It is cheaper and less harmful.
(c) A piece of paper

(c) Productive

(b) They can slowly become weaker

46. (d) By referring to a familiar saying

Reading — Part Three

1 mark for each correct answer. Total 8 marks

47.
48.
49,
50.
51.
52.
53.
54,

(a) To explain an environmental effect on sea life.
(b) It drives fish and animals away from the area.

(b) To calculate how far marine species have to travel.

(c) To locate where they live

(c) Changing the colour of coral

(d) Submarines

(c) How far marine life has to travel
(b) The surface

Reading — Part Four

1 mark for each correct answer. Total 6 marks

55
56
57
58
59
60

Reading total /30

(b) In the middle of an ancient settlement

(b) It was not like modern breeds
(c) A gift
(b) The development of farming

. (a) It was uncovered at the site of an ancient flood

. (d) It showed a connection between ancient and modern times.
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Writing Task — Part One
Total 15 marks
Writing Task — Part Two
Total 15 marks

Writing total __ /30



